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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 100 questions. 

Examinee is required to answer any 75 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 75 questions are attempted by 

student, then the first attempted 75 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 100 iz’u gSaA ijh{kkFkhZ dks fdUgha  

75 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

75 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 75 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. Income tax is charged in : 

(A) Previous year 

(B) Assessment year 

(C) Financial year 

(D) Accounting year 

2. A person includes : 

(A) Only individual 

(B) Only Individual and HUF 

(C) Individual, HUF, Firm and 

Company 

(D) Individual, HUF, Firm, Company, 

AOP, BOI, Local authority and 

Every Artificial Judicial person 

3. Every assessee is a person and : 

(A) Every person is also an assessee. 

(B) Every person need not be an 

assessee. 

(C) An individual is always an 

assessee. 

(D) A HUF is always an assessee. 

4. A person follows calendar year for 

accounting. For taxation, he has to  

follow : 

(A) Calendar year only : 1st January to 

31st December 

(B) Financial year only : 1st April to 

31st March 

(C) Any of the Calendar or Financial 

year as per his choice 

(D) None of the above 

5. Income tax is levied on the ............... of a 

person. 

(A) Total Income 

(B) Total Income-Debt 

(C) Gross Total Income 

(D) Net Income-Debt Perquisites 

6. Income includes  : 

(A) Profits and gains 

(B) Profit in lieu of salary 

(C) Income from other sources 

(D) All of the above 

7. Which amongst the following is not a 

head of Income ? 

(A) Salaries 

(B) Income from house property 

(C) Capital gains 

(D) Income from exports 

8. Income tax in India is charged at the 

rate(s) prescribed by  : 

(A) The Finance Act 

(B) The Income Tax Act 

(C) The Central Board of Direct Taxes 

(D) The Ministry of Finance 
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9. Income tax is a/an .................... . 

(A) Professional tax 

(B) Direct tax 

(C) Indirect tax 

(D) Service tax 

10. CBDT stands for ............................ . 

(A) Central Bureau of Direct Taxes 

(B) Central Board of Direct Taxes 

(C) Citizen‟s Board of Direct Taxes 

(D) Citizen‟s Bureau of Direct Taxes. 

11. CBDT is controlled by ....................... . 

(A) Central Government 

(B) State Government 

(C) Both (A) and (B)  

(D) None of this above 

12. To be an ordinarily resident in India, an 

individual must satisfy .................... . 

(A) Both Basic Conditions and One 

Additional Condition 

(B) One Basic Condition and Both 

Additional Conditions 

(C) One Basic Condition and One 

Additional Condition 

(D) Both Basic Conditions and Both 

Additional Conditions 

13. Dividend from an Indian company  

is ........................ . 

(A) Fully taxable 

(B) Partially taxable 

(C) Fully exempted 

(D) None of the above 

14. Income from Salary is explained in the 

Section .............................. . 

(A) 12 to 14 

(B) 15 to 17 

(C) 18 to 22 

(D) 24 to 26 

15. Income exempted from tax are stated in 

the Section ............... of Income Tax Act. 

(A) 5 

(B) 10 

(C) 12 

(D) 8 

16. Expenditure incurred on exempted 

income is .................. as deduction. 

(A) Fully allowed 

(B) Partially allowed 

(C) Not allowed 

(D) None of the above 
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17. Payment made by an employer to 

employee monthly, other than salary is 

called .................. . 

(A) Bonus 

(B) Allowances 

(C) Benefits 

(D) None of the above 

18. If the assessee is living in own house 

HRA is ................... . 

(A) Fully taxable 

(B) Partially taxable 

(C) Fully exempted 

(D) None of the above 

19. Who among the following may be “not 

ordinarily resident” ? 

(A) Hindu Undivided Family 

(B) Company 

(C) Association of persons 

(D) None of the above 

20. Entertainment allowance is allowed as a 

deduction as per Section ................. . 

(A) 16 

(B) 16(i)  

(C) 16(ii)  

(D) 16(iii) 

21. A person is Non-resident if he fails to 

fulfil ....................... . 

(A) The additional conditions 

(B) At least one of the basic conditions 

(C) Both basic conditions 

(D) None of the above 

22. Any rent or revenue derived from land 

which is situated in India and is used for 

agricultural purpose is ......................... . 

(A) Partially taxable 

(B) Fully taxable 

(C) Exempted from tax 

(D) None of the above 

23. The salary, remuneration or 

compensation received by the partners is 

taxable under the head „....................‟ . 

(A) Income from other sources 

(B) Income from business 

(C) Salary 

(D) None of the above 

24. Under Section 15 of Income Tax Act, the 

salary due in previous years and even if it 

is not received is .................... . 

(A) Taxable 

(B) Not taxable 

(C) Partially taxable 

(D) None of the above 

25. The entertainment tax allowed as a 

deduction under Section 16 of Income 

Tax Act is the least of .................... . 

(A) Actual amount of entertainment 

allowance received 

(B) 20% of basic salary of the 

individual 

(C) ` 5,000 

(D) All of the above 
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26. Which one of the following is not a tax 

saving investment ? 

(A) Fixed Deposit 

(B) Home Loan Principal Repayment 

(C) Life Insurance Premium 

(D) None of the above 

27. Which of the following terminology is 

not related to income tax ? 

(A) Leave Travel Concession 

(B) Dearness Allowance 

(C) Taxpayer Identification Number 

(D) None of the above 

28. Gift to an employee by an employer, 

where the value of the gift is below  

` ............. shall be treated as a tax free 

perquisite. 

(A) 10,000 

(B) 20,000 

(C) 5,000 

(D) None of the above 

29. Income is taxable the head „Salaries‟ 

only if there exists a/an ................ 

relationship between the payer and 

payee. 

(A) Employer-Employee 

(B) Government-Member of 

Parliament 

(C) Seller-Buyer 

(D) Student-Principal 

30. For assessment year 2020-21, the 

maximum permissible deduction under 

Section 80C is ................ . 

(A) ` 2,00,000 

(B) ` 5,00,000 

(C) ` 1,50,000 

(D) None of the above 

31. Ram, has rendered his services in India 

and retired in 2019.  He then shifted and 

settled in America. The pension received 

by him for such services would be : 

(A) Deemed to accrue or arise outside 

India. 

(B) Deemed to accrue or arise in India 

only when it is received in India. 

(C) Deemed to accrue or arise in India 

only when it is received outside 

India. 

(D) Deemed to accrue or arise in India. 

32. For the assessment year 2020-21, 

deduction has been provided in respect of 

interest payable for loan taken for 

purchase of electric vehicle  

in ....................... . 

(A) Section 80EEB 

(B) Section 80G 

(C) Section 80GG 

(D) None of the above 
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33. Surcharge of 10% (percent) is payable by 

an individual where the total income 

exceeds : 

(A) ` 10,00,000 

(B) ` 50,00,000 

(C) ` 8,50,000  

(D) None of the above 

34. Income tax is imposed by .................... . 

(A) State Government  

(B) Central Government 

(C) Both of the above  

(D) Constitution of India 

35. Income Tax Act, 1961 applies to ........... . 

(A) Whole of India 

(B) Whole of India excluding J & K 

(C) Maharashtra 

(D) All of the above 

36. Income Tax Act came into force  

on .............. . 

(A) 1-4-1961 

(B) 1-4-1962 

(C) 1-4-1956 

(D) 1-4-1965 

37. The term „Person‟ includes .............. . 

(A) Registered firm 

(B) Unregistered firm 

(C) Both (A) and (B) 

(D) Neither (A) nor (B) 

38. Assessment year is the period of  

12 months commencing on 1st day of : 

(A) April every year 

(B) December every year 

(C) July every year 

(D) January every year 

39. First previous year in case of a business 

or profession newly set up on 31-3-2019 

would be ........................................ . 

(A) Start from 1-4-2018 and end on  

31-3-2019 

(B) Start from 31-3-2019 and will end 

on 31-3-2019 

(C) Start from 1-l-2019 and end on  

31-12-2019 

(D) None of the above 
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40. As per Section 2(7) , „Assessees‟ means 

a person : 

(A) By whom any tax or other sum of 

money is payable 

(B) Against whom proceeding has been 

taken under the Act 

(C) A person deemed to be assessee in 

default 

(D) All of the above 

41. „Income‟ includes the following  

types ; 

(A) Legal 

(B) Illegal 

(C) Both (A) and (B) 

(D) None of the above 

42. Year in which income is taxable is 

known as and year in which income is 

earned is known as : 

(A) PY, AY 

(B) AY, PY 

(C) AY, AY 

(D) PY, PY 

43. Income received in India during the 

previous year is taxable in the case  

of ................ . 

(A) ROR 

(B) RNOR 

(C) NR 

(D) All of the above 

44. Residential status of company is 

determined : 

(A) u/S 6(4) 

(B) u/S 6(1)  

(C) u/S 6(6) 

(D) None of the above 

45. Income accruing in London and received 

there is taxable in India in the case  

of .............. . 

(A) ROR 

(B) RNOR 

(C) NR 

(D) ROR  and RNOR 

46. Income earned and received outside India 

but later on remitted to India, is taxable 

to : 

(A) ROR 

(B) RNOR 

(C) NR 

(D) None of the above 

47. Foreign income means ...................... . 

(A) Income accrued, deemed to be 

accrued in India 

(B) Income received, deemed to be 

received in India 

(C) Both (A) and (B) 

(D) None of the above 
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48. Government of India paid salary of ` 5 

lacs and allowances, perquisites of ` 2.20 

lacs to a person who is citizen of India 

for services rendered by him outside 

India. His taxable income will be 

.................. . 

(A) ` 7.2 lacs 

(B) ` 5 lacs 

(C) ` 6.1 lacs 

(D) Nil 

49. Parliament has the power to levy tax on 

incomes other than : 

(A) Exempt incomes 

(B) Income of poor people 

(C) Agricultural income 

(D) All incomes are taxable 

50. Highest Administrative Authority for 

Income Tax in India is : 

(A) Finance Minister 

(B) CBDT 

(C) President of India 

(D) Director of Income Tax 

51. Finance Bill becomes the Finance Act 

when it is passed by ............ . 

(A) Lok Sabha 

(B) Both Lok Sabha and Rajya Sabha 

(C) Both House of Parliament and 

signed by President 

(D) Both House of Parliament and 

signed by Prime Minister 

52. A domestic company means : 

(A) Indian company only 

(B) Both Indian company and foreign 

company 

(C) Both Indian company and a foreign 

company having business 

connection in India 

(D) Both Indian company and a foreign 

company which has made the 

prescribed arrangement for 

declaration and payment of 

dividends in India out of the 

income chargeable to tax in India. 

53. What is not included in taxable Income ? 

(A) Income from smuggling activity 

(B) Casual income 

(C) Capital receipt, except gains on 

transfer of capital asset 

(D) None of the above 

54. A company incorporated outside India 

having its place of effective management 

fully situated in India in the previous 

year will be treated as : 

(A) NR 

(B) ROR 

(C) RNOR 

(D) Resident 
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55. Income which accrue outside India from 

business controlled from India is not 

taxable in India in the case of : 

(A) ROR 

(B) RNOR 

(C) NR 

(D) All of the above 

56. Body of individuals consists of : 

(A) Individuals (only)  

(B) Company 

(C) Any person other than (A)  

(D) Any kind of person 

57. Income includes the following types : 

(A) Legal 

(B) Illegal 

(C) Both (A) and (B) 

(D) None of the above 

58. Which of the following income is not 

included in the term „income‟ ? 

(A) Profit and gains 

(B) Dividend 

(C) Profit in lieu of salary 

(D) Reimbursement of travelling 

expenses 

59. If Karta is ROR in India but control and 

management of HUF is situated partly 

outside India in PY, HUF is : 

(A) ROR 

(B) RNOR 

(C) NR 

(D) None of the above 

60. Income accruing from agriculture in a 

foreign country is taxable in India in case 

of an assessee who is : 

(A) ROR 

(B) RNOR 

(C) NR 

(D) None of the above 

61. Mr. Ram owns a house property. He lent 

it to Laxman at ` 10,000 p.m. Laxman 

sublet it to Mr. Maruti on monthly rent of 

` 20,000 p.m. Rental income of Laxman 

is taxable under the head : 

(A) income from salary 

(B) income from other sources 

(C) income from house property 

(D) income from business 
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62. Calculate the Gross Annual Value from 

the following details :  

Municipal Value ` 45,000; Fair rental 

value ` 50,000; Standard rent 48,000 and 

Actual rent ` 42,000 : 

(A) ` 50,000 

(B) ` 48,000 

(C) ` 45,000 

(D) ` 42,000 

63. Value of rent-free accommodation or a 

house owned by employer in case of non-

government employees with above  

25 lakh population is : 

(A) 15% of employee salary 

(B) 7.5% of employee salary 

(C) 20% of employee salary 

(D) None of the above 

64. Deduction from annual value is allowed 

under : 

(A) Section 24 

(B) Section 25 

(C) Section 27 

(D) Section 28 

65. ................ standard deduction from 

annual value is allowed. 

(A) 10% 

(B) 20% 

(C) 30% 

(D) 15% 

66. How many heads of income are there to 

compute Gross Total Income of an 

assessee ? 

(A) 3 

(B) 4 

(C) 5 

(D) 6 

67. For computation of tax agriculture 

income is included in the total income  

of : 

(A) Individual 

(B) Firm 

(C) Company 

(D) None of the above 
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68. Every year the residential status of an 

assessee : 

(A) may change 

(B) will certainly change 

(C) will not change 

(D) None of the above 

69. Agriculture income in Pakistan is 

assessable for : 

(A) Resident 

(B) Non-resident 

(C) Both (A) and (B) 

(D) Not taxable 

70. Education allowance is exempted for : 

(A) One person 

(B) Two persons 

(C) Four persons 

(D) None of the above 

71. The maximum amount for deduction as 

entertainment allowance to a government 

employee : 

(A) ` 5,000 

(B) ` 2,500 

(C) ` 10,000 

(D) ` 15,000 

72. Value of the facility of gardener is 

taxable for : 

(A) Every employee 

(B) Specified employee 

(C) Officer 

(D) Director 

73. Deduction allowed from gross salary : 

(A) Professional tax 

(B) Income tax 

(C) Entertainment tax 

(D) Insurance premium 

74. House Rent Allowance is : 

(A) Fully exempted 

(B) Exempted to a certain limit 

(C) Exempted in big cities 

(D) Exempted for Government 

Employees 

75. Cost of Education for the employer is  

` 1,200 p.m. per child. For employee 

taxable value of free education to his 

child shall be : 

(A) ` 1,000 p.m. 

(B) ` 1,200 p.m. 

(C) ` 200 p.m. 

(D) Nil 
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76. Gratuity received by a Government 

employee is : 

(A) Fully exempted 

(B) Partially taxable 

(C) Fully taxable 

(D) Exempted upto ` 10,00,000 

77. The periodic payment of money for the 

past service is known as : 

(A) Pension 

(B) Commuted Pension 

(C) Gratuity 

(D) None of the above 

78. The commuted pension in case the 

employee, does not get gratuity, shall be 

taxable : 

(A) 1/3 of total pension 

(B) 2/3 of total pension 

(C) 1/4 of total pension 

(D) 1/2 of total pension. 

79. Interest on capital paid by the firm to its 

partners is allowed : 

(A) upto l5% 

(B) upto l6% 

(C) upto l8% 

(D) upto 12% 

80. Under which the work of a doctor is 

covered ? 

(A) Trade 

(B) Business 

(C) Profession 

(D) None of the above 

81. Which of the following donations is 

eligible for 100% deduction ? 

(A) P. M. Drought Relief Fund 

(B) National Sports Fund 

(C) Rajeev Gandhi Foundation 

(D) None of the above 

82. For the assessment year 2020-21, the 

maximum permissible deduction u/S 80 

C is : 

(A) ` 79,000 

(B) ` 1,50,000 

(C) ` 80,000 

(D) None of the above 

83. Under Section 80 E deduction in respect 

of payment of interest on loan is taken 

for the higher education shall be allowed 

upto : 

(A) ` 20,000 

(B) ` 25,000 

(C) ` 30,000 

(D) No limit 
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84. Deduction under Section 80 C is not 

available to : 

(A) Individual 

(B) HUF 

(C) Company 

(D) All of the above 

85. Deduction under Section 80 G is allowed 

in connection with : 

(A) Charity 

(B) Donation 

(C) Royalty 

(D) All of the above 

86. On which income deduction under 

Section 80 G is not allowed ? 

(A) Salary 

(B) House Property 

(C) Long-term Capital Gains 

(D) None of the above 

87. If unlisted securities are sold after  

12 months, the capital gain arising from 

such sale is a : 

(A) STCG 

(B) LTCG 

(C) Income from other sources 

(D) All of the above 

88. Capital gain is the gain which arises from 

the transfer of : 

(A) Land and Building only 

(B) Share of a Blue chip company 

(C) Capital assets 

(D) All of the above 

89. Which of the following is not regarded as 

transfer of capital asset ? 

(A) Sale or exchange of an asset 

(B) Conversion of assets into stock-in-

trade 

(C) Redemption of zero coupon bonds 

(D) Any transfer of a capital asset 

under a gift or will or an 

irrevocable trust 

90. Which of the following expenses are 

disallowed while calculating capital 

gains ? 

(A) Cost of acquisition of asset 

(B) Cost of improvement of asset 

(C) Expenses on transfer of asset 

(D) Securities transaction tax 

91. Tax on LTCG is : 

(A) 10% 

(B) 15% 

(C) 20% 

(D) 25% 

92. Tax on STCG on sale of listed shares 

covered under STT is : 

(A) 10% 

(B) 15% 

(C) 20% 

(D) 25% 
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93. Long-term capital loss can be carried 

forward for next : 

(A) 6 years 

(B) 8 years 

(C) Indefinite years 

(D) Cannot be carried forward 

94. Which one of the following statements is 

true ? 

(A) Agricultural land in rural area is a 

capital asset. 

(B) Capital gain arises from transfer of 

any asset. 

(C) Capital assets include both tangible 

and intangible assets as per Sec. 

2(14). 

(D) None of the above 

95. Exemption under Section 54D is 

available if there is : 

(A) A transfer of any capital asset 

(B) Compulsory acquisition 

(C) Slump sale 

(D) None of the above 

96. Under which head the pension is  

taxable ? 

(A) Salaries 

(B) Income from other sources 

(C) Capital gains 

(D) None of the above 

97. Salary of MP will be taxable under the 

head : 

(A) Salaries 

(B) Profits from Business and 

Profession 

(C) Capital Gains 

(D) Income from other sources 

98. Donation to Prime Minister‟s National 

Relief Fund is deductible from gross total 

income of the assessee under which 

Section of Income Tax Act ? 

(A) Section 80 C 

(B) Section 80 D 

(C) Section 80 G 

(D) Section 80 E 

99. Mr. X is completely blind deduction 

available under Section 80 U : 

(A) ` 75,000 

(B) ` 25,000 

(C) ` 1,25,000 

(D) None of the above 

100. Amendments by the Finance Act are 

made available : 

(A) First day of next financial year 

(B) First day of same financial year 

(C) Last day of same accounting year 

(D) None of the above 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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